|
T & s
b S i 4 st o

(A) 59 1 srgareor s

B B 11 ST ey 3

(© mﬁlmxlmw%l
(D) WH}ISﬁT?ﬁIIWW%I
(E)  srafia wym

T B

1L q‘éflu‘gmﬁiﬁﬁﬁm%ﬁﬁﬁm
9T FIEAT § a1 78

(A) &gt d%F 1A 2l

\(E/aﬁ.aa?%lrwqgr%l

(©) ar &t 13 119 gl

(D) 13 [T Ao E|

(B)  rafa e

y T A A AL E AT T B et gy 35
. wﬁm%lﬁqrmwma
ﬁarwﬁgmﬂaﬁlﬂgi
(A) v ®) wee
Reet (D) =y
(B) Irgafid wed
i DG-06 2

In the following question, there is 5
followed by courses of actjor, Numbey, Statement
Assuming the statement g true, g, ... andy
course(s) of action W(_)yld Iogicaﬂy followe; hich
STATEMENT : N :
There has been a rapid rise i -
through fake calls all over the COuer em“_me
monetary losses to citizens. Causiy, "
COURSES OF ACTION
I People should be discoyy,
smart phones.

Il.  The service providers shoulq be 3
flag the calls from dubioyg callers,

ged from buying
SkEd to

(A) OnlyI follows.

(B) Only II follows.

(C) Either Ior Il follow.
(D) Neither I nor II follows,
(E) Question not nrtet-‘-npted

The question given below consists of a statemer
followed by two arguments I and II. Decid

which of the argument(s) is/are strong ? _
STATEMENT : ~

Should aerated drinks be banned in primar
school canteens ?

ARGUMENTS -

L Yes 1t adversely affects the health of kids.
Il No. It's for the students to decide wheth \V
to buy the aerateq drinks or not.

(A) Only argument

s strong
() Only argumen II15 strong
(©) EitherIor]g is strong

(D) BothIandIr a}gis;_frong

(E) Question not a:tféﬁtpted

.. Raju
Pooja is the daughter of Meera, Meer? Isz\/lfzzjlﬁ"‘ (C
only sister whoge mother js Malth to Pod/
son-in-law is Rakes}, Rakesh is relat®
as:
(A) Brother

(C) Father

. TaW (E)
(B) Brother" .

(D) Uncle
(E) Question no; attempted

i DG-06
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a, / ST I Seefio & wrr wfifear s §, |4

w3
J;‘/W (B) eq SifTES
(C) 3T dfEETEE (D) A STERiTES

(E) Iaid wed
@/Rﬂaﬁiﬁw%ﬁ—:r%ﬁmwnﬁﬁﬁﬁqm
AT ST e 7t & S Fewrn & 2

(A) umT8(1) (B) &mT 7(5)
(© ?mrzo(rl); @/w 19(1)
() Sraid we

6./ fy=ferfad § § < OT Sl A+ St Al
e fEv T faedt § ¥ W I9YE ST A |

(A) o F oifFmEs (B) ORI @S
(9/%' (D) WS TA

(E) a-—lﬂﬁ?rl:qai

R S T a9 S e T @err w7

/ fepifrar e B, 3R T B

(A) Tl Tt
© swwmd . (D) s
F) oratd wed

8/ RrefaRas & ¥ B O anty, gt () # &8

Y e PR R

(A) Allele

When non-metals react with oxygen, ——
is/are NOT formed.

(A) Water (B) Metal oxides

(C) Non-metal oxides (D) Carbon dioxide

(E) Question not attempted

Which one of the following provisions of the RTI

Act elaborate on first appeals by requesters 7

(A) Section 8(1) (B) Section7(5)

(C) Section 20(1) (D) Section 19(1)

(E) Question not attempted

Which of the following is ejected mostly by
thermal power plants as by-product of- coal
burning processes which results in air pollution ?

Choose the most appropriate answer from the
options given below.

(A) Oxides of iron (B) Tetraethyl Lead
(C) Dust (D) Fly Ash
(E) Question not attempted

The alternative form of a gene which controls any
one character is called :

(B) Dominance
(C) Recessive (D) Genetics
(E) Question not attempted

Which of the following figure is embedded in the
pattern given in fig. (X) ?

®

X)
(A) Z (B) \/\/
© j (D) ]
S—
(E) Question not attempted '
PTo,
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9.  What should come in place of questj
9, Fererfiae sferem # 99 498 (7) & e in the following series ? 1ON mark (;

Bk M14P, PM14, 4PM1, ?
M14P, PM14, 4PM1, ? |
(A) 1PM4 @/ 14PM (A) 1PM4 (B) 14PM
(C) 1MP4 (D) 14MP (C) 1MP4 (D) 14MP
Cﬂﬂﬂiiﬁ RG] (E) Question not attempted

W F (@) e # ENGLISH’ #|10. In a code language 'FNG”SH s written |

same ]anguage ?
(A) SRNVR \(p/ SRMWR (A) SRNVR (B) SRMWR
(C) SRMVR (D) SROWR (C) SRMVR (D) SROWR
(E) 3171?(&?[ PEEI (E) Question not attempted
T | §HT a7 fqem wEwd (Fﬂ'q—@'q':'f) 11. In Rajasthan, the Border Area Developme
FEl Hﬂlﬂ%pf fpaT ST @I R Programme (BADP) is NOT being implement
2 ¥ 3 ' . in:
i feg EEAEEE ESRIERA qre” Choose the most appropnate answer from t
options given below.” ==
AT (B) SRR (A) Alwar
(D) =M (C) Jaisalmer
(E) Hﬂﬂﬁﬂ' I EC I (E) Question not atte;;)ted
Ifg PAPER & 16-0-16-0-18 & ®F H FPiea|12. If PAPER is coded as_16 0-16-0-18, how will yc
(Bifea) far @m &, @ 31T PENCIL &t ¥ wdePENCIL?
HIed BT 7 4/ =
(A) 16-5-9-12-0-3 16-0-14-3-0-12 (A) 16-5-9-12-0-3 (B) 16-0-14-3-0-12
(C) 16-0-14-0-0-3 (D) 16-5-14-3-9-12 (C) 16-0-14-0-0-3 (D) 16-5-14-3-9-12
(E) Wﬁ'ﬁ a3+ (E) Question not attempted
\?/ 2011 Ft TEEUET F FTAR T@EAE H FEH |13, According to census 2011, which district has!
T e (e f9a # §9 highest population in Rajasthan ?
&/W (B) Gl(:l-I . (A) ]aipur :_i_ :(B) ]alore
T (D) Gﬁ"J‘I{ (C) Jaisalmer ; (D) Jodhpur

(E) rad w3
@ T et § AR (RAC) T 8 7

(E) Question not attempted

What is RAC in Rajasthan Police ?

(A) TEATT A4 W—a A4 (A) Rajasthan Armed CfSnstabulary
(B) I(AITE I T (B) Ramgarh Armed Constabulary
(C) TETIE WA TR (€), Rajgarh Armed Constabulary
T WAE T /K) Reserved Armed Constabylary
Wﬁﬂ 79T (E) Question not attempted
' DG-06 *
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®

y

T L A A A o Tl e A e

PrAferiad @aT # wew fag (9)% W T A
T T BT AT FY
2 5,10,17, 26, 2, 50

(a) 37 (B) 38 /
() 39 (D) 40 /
AT 99
TN 6 oI e § wafua €2
T T (B g T
©Q Sl B D) 2Tl BT

ARG 9T

= T T wew ¥ U wu & w5 of freey
(137 1) few Mo ¥ Fom B 97 =T gU,
w6 3AH ¥ H9 @7 Topd FUT # 9 TE
SR & I Tog I I ATRE BT F ATEI
FLAT R ?

YA :

aﬁﬁgnmrﬁ%aaﬁwéaﬁ'{gmmﬁ

g Fafwe §&r4113°f Er%l T TET TRATIHAT
HT FoER T

frreey

L. @mmﬁmﬂ?%m%ﬁmgﬁnﬁﬁ
I A U gl

II. %mrﬁﬁﬁuﬁ%%qwﬁqmaﬁ?mﬂﬁ
Fafepea givemsit #t srayassaT of|

(A) FIS 1 TEOT AT 2

(B) & 11 IFHT BT 2

(©) 7 &t 130X 7 & I S ERT BT 2

yflafmlaiﬁaxwﬁﬂ%%l
ITART WA

y AR 9t T R i e ey 29t 2

18.

(A) =e fig VLB( T
© Tgr= (D) TR
AR W '
i DG-06 5

15.

. (C) Jaipuri Khyal

Select the number that can replace the question
mark (?) in the following series :

2,5,10,17, 26, 2, 50
(A) 37 (B) 38
(Q) 39 (D) 40

(E) Question not attempted

Lachhiram/Lacchiram is related to which folk
drama ?

(A) Shekhawati Khyal (B) Kuchamani Khyal
(D) Hela Khyal

(E) Question not attempted

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of them
logically follows beyond a reasonable doubt from
the information given in the statement ?

STATEMENT :

The covid pandemic created mayhem and
exposed the sad reality of existing medical
infrastructure worldwide.

CONCLUSIONS :

I Medical infrastructure was improved after
the pandemic worldwide,

II. Dealing with the pandemic required
sophisticated as well as sturdy medical
facilities.

Only I follows.

Only IT follows,

Neither I nor II follows.

Both I and II follow.

(E)

Who founded the Jat principality of Bharatpyy 7

Question not attempted

(A) Badan Singh (B) Surajmal

(C) Churaman (D) Rajaram

(E) Question not attempted

SCannea witn camocal



19/ st 3 i o afxem s |19, The Constituent Assembly of India in

e women members.
AT o

\9/5 ®) 7 (A) 5 (B) 7

© 10 (D) 15 (C) 10 (D) 15

(E) STai we (E) Questionnot attempted

frrtega | 3]1-5!,—% 3;@-% 70. Which of the following figures when pl;
7 - ﬁﬁ-{zﬁaﬁﬁ N g’:j 0% the blank space of fig. (X) would comp]

b W T kS ? pattern ?

(E) Question not attempted

2/ 21.  The Constitution of India came into force
(A) 26 7E=X 1949 (B) 15 0TI 1947 (A) 26 November 1949 (B) 15 August!
\(9/ 26 STAEL 1950 (D) 2 ITEGAT 1948 (€) 26January 1950 (D) 2 October1
(E) 3raRd w3 (E) Question not attempted
22/ w fafyaa ®ig #,BLACK & 29 foam T 81|22, Ina certain code, BLACK is written as Z
w7t wrg § WHITE ST HF forat s ? WHITE written in that code ?
(A) 92 (BY” 65 (4) 92 (B) 65
© 23 (D) 56 © 23 (D) 56
(E) Wﬁﬂ LAl (E) Question not attempted
i DG-06 °
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23/ @i TP NS % qew o
frferfad # & 58 ety ot Bt s &
FoHL T 6 T H TRatiq fear mar 39

ﬁﬂ%ﬁﬂﬁﬁ%ﬁﬁﬁqﬁmmzﬁ|

(A) TTSRT TSTART HeE 1]
(B) I TSTATT Tz 14
yﬂéﬁwmg
(D) TS IISTHRT T 3
E) Sand wed

24/ ITFENT (a) 3T (b) F g ve TRTd d€w B
freferiaa Taspedt # & sugem swela ®1 =9uw
FIH IMF () 3T (d) F drg THE Fay w2y
FL A INME (d) & weT Tag (2) Fr vl
FT B

J

O

y

V

(@)

(b)

(A)

(c)

(d)

(B)

v, r
Ik

(E) arqaid wed

NZB/wm%ﬁwﬁmﬁmﬁaﬁmaﬁrﬁwm
TRATT AT & g aEar |§ ‘quieges’ s
ST T 9T 2

(A) 4149 (BY” 4ot
(©)  a4at (D)

(E) Srqaia oA

437

Y DG-06 7

24,

25.

Which of the following National Highways in
Rajasthan has been converted into 6 lane from

Jaipur to Ajmer under Golden Quadrilateral
Project ?

Choose the most appropriate answer from the
following options.

(A) National Highway number 11

(B) National Highway number 14

(©) National Highway number 8

(D) National Highway number 3

(E) Question not attempted

There is a definite relationship between figures
(@) and (b). Establish a similar relationship
between figures (c) and (d) by selecting a suitable

figure from the following options that replaces
the question mark (?) in figure (d).

4

W ?

(A)

(©)

(d)

(B) r_—
/

D) | «

\

On which Constitutional Amendment Act of
1976, the term ‘secular’ was added to the
Preamble of the Indian Constitution ?

(E) Question not attempted

(A) 41 (B) 42nd

(C) 44 (D) 43rd

(E) Question not attempted

P.T.0
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2/ fau m wew # & Preed (13 m Ry ME,

|

P TE T U R ¥ wee A A
ST B e A g, e s AR A W

. TS I faborar it ik & e 2l

WWIWW%I
(B) Fae forsp 11 STERT BT B
(C) 7 & 13/ 7 & 11 3FHT FHT B

(D) IR SFAT FET F 2

) IANT 99
27/ < E SR (X) T wE g w4
[l
X)
NIGIERale
" "G
(E) 3raiea Wed
! DG-06 ’

In the given question, two conclusions (I ay, ¢
are followed by a statement. Assume
information given in the statement to be , |
select a logically drawn conclusion beyong 3
reasonable doubt. 3

STATEMENT :
Hard work is a key to success.
CONCLUSIONS :

. Allsuccessful people are hardworking

II. Smart work leads to failure.

(A) Only conclusion I follows.
(B) Only conclusion II follows.

(C) Neither I nor II follows.

(D) BothTand Il follow.

(E) Questijér'l_ii';iot attempted

Choose the i(}i_’rect mirror image of the giver
figure (X). == -
Zj Mirror
X)
@) [~ (B)

J
[%

() Question not attempted
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28,/ f= BT T 997 A, U o F w9 g AW
1377 1d T ¥l Pu @ we A @Y, T B
fi5 @i o aroT/ARomT Py 33 0
HYA
qfer W A el e ¥ i i A
qade o U e, et wwek A ame ¥
HWOT TH AT ST WESTE 45F GG B
ST 2T .
I AT SaT & s agd dene
[ T W A S
(AY” aer amom 1TATed &)
(B) el &RET II ffeat &
© T ar13i7 7 & ufatea 2|
(D) 1aiw nEmT frfe EL
AR 9T
29. / T T (BE) A H, ROCKETEF‘r ‘CROTKE’
& AT | T AT (SEARCH’ T 4 ferel
ST ? £
(A) ASEHCR (B) ~ ASECHR
(C) ASECRH (D) /ASEHRC

N A ————
mﬁfaﬁmﬁaﬁquﬁrémﬁ?
(B)?q@ﬁ"ﬁ

(A) oy =
U

© g Al
(B) 3rgaRa 997

i DG-06

28.

29.

30.

31.

In the question given below, a statement 1is
followed by two assumptions I and IL
Considering the statement as true, decide which
of the assumption(s) is/are implicit ?
STATEMENT :

The police administration blocked ventricular
movements around the rally ground where a
public meeting is to be held by a leader due to
the large inflow of supporters.

ASSUMPTIONS :
L The leader is very popular among the
public.

.  The leader will win the upcoming election.
(A) Only assumption Iis implicit.

(B) Only assumption II is implicit.

(C) Neither Inor ITis implicit.

(D) BothIandITare implicit.

(E) Question not attempted

In a code language, ‘ROCKET" is written as
'‘CROTKE'. How will ‘SEARCH’ be written in

that language ?

(B) ASECHR
(D) ASEHRC

(A) ASEHCR
(C) ASECRH
(E) Question not attempted

Which of the following is not a category for
classifying the elements ?

(A) Non-metals (B) Metalloids

(C) Metallurgy (D) Metals
(E) Question not attempted

Who can make advances out of the Contingency
Fund of the state to meet any unforeseen

- expenditure ?

(A) Finance Minister (B) Chief Minister

(C) Home Minister (D) Governor

(E) Question not attempted

P.T.0.
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32, %ﬁqaﬁﬁaﬁwmﬁ%%ﬁﬁﬂ%ﬁﬁﬁﬁﬁﬁﬂ 32.
Y uEYOT T ITANT R TR ?
A g g Rrepeat 3 % TR I I L
(A) Whiex
(B) awiwTdY
(CY wemmes
(D) T 3R e emiiex
(E) Srana "3+
@ WA 91C 2024-25 & IFER, 25 g T (33,
TRaNt F U s Sew fem Ywew W
AT =T 4T 87
(A) 10&RIT  (B) 15 &I Hiis
© 20&R®WE (D) 25 &N g
(E) 3raRa usd
34/ fr=friad ® § ®H @1 guu/e Wi Wi, |34
AT, T @TgSl AN ATEAT B LSeged H
IYAHT R ST B2
N(y/maﬁvr (B) 3rader gUur
(C) T gHor (D) 3 o
(E) 3Taid 937
35/ fow U 7 wagl IR geury st & faw|35.
At faeasal Gem AT AaRR 2024 H
3% FIA I GO F 7
(A) Taedr (B)
() wemr @/u:mwm
(E) it wyA
@ BT FATER AT A 7 TG 8 36.
(A) I® (B) T
/C{ A (D) wfrarst
(E) 3TAIa weT
1 DG-06 10

Which of the following instrument

Is
measure Earthquake waves ? Usgg

Choose the most appropriate answe

options given below. Om

(A) Barometer

(B) Rain gauge

(C) Seismograph

(D) Max and Min Thermometer

(E) Question not attempted

According to modified budget 202425, v},

the estimated expenditure on Jal Jeevan hjs;
drinking water for 25 lacs rural households?

(A) 10 thousand crores (B) 15 thousand core
(C) 20 thousand crores (D) 25 thousand cror:
(E) Question not attempted

Which of the follé;;t;g mirror/lens is used

solar furnaces, torches, search lights &
headlights of vehicles ?

(A) Convex Mirror - - (B) Concave Mirror

(C) Plane Mirror (D) Convex Lens

(E) Question not attempted

Which state has made the announcement
launch ‘Mukhyamantri Vishwakarma P

Scheme’ in November 2024 for laborers and
vendors ?
(A) Delhi (B) Gujarat

(C) Maharashtra (D) Rajasthan
(E) Question not qttentpted

The Phad artist Shrilal Joshi belongs to:
(A} Churu ~ (B) Bikaner
(C) Jodhpur (D) Bhilwara

(E) Question not attempted
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y/ﬁqwsmﬁ%aﬁ%ﬁwqﬁ@www
gawr gl IR (Fr1) &7 = Hifvol

(A) IO TRE (B) N : IR

(€ dee : THST \(B/mﬂ'lﬁ

(E) ITIRA 99
@é’rﬂémﬁaﬁwmaﬁﬁm;

7YO, XWP, VUQ, ?

(A) TSR (B) STR

(©) RTS (D) TRS

(E) 3FARA 99T

39./ 38 &t B A B fw w oofeg giean
SewaTa a2l

(A) AT
(¢ <ot

(E) 3TIaRa ued ;

40, a"t%ﬁrqwqmﬁé’rnéjﬁ%ﬁ
T g, d Y B FredEn # T
FRATE & EF dTeS 7 d TEl 8 ?

HAA

L T gx wfie S AT 3T e B

yﬁlmm%l

et 11 AT AT &

© a3t A & 11 3T FT B
(D) 13 (ST SFaTer F €l

37.

38.

39.

40.

(B) vy s

i DG-06 11

The given pair of words share a common
relationship except one. Choose the odd one out.

(A) Paper: Wood (B) Wine: Grapes

(C) Belt: Leather (D) Gold : Silver

(E) Question not attempted

Find the missing term in the given series :
ZYO, XWP, VUQ, ?

(B) STR

(D) TRS

(A) TSR
(C) RTS
(E) Question not attempted

Identify the river on which the famous Chuliya
Waterfall is located.

(A) Luni (B) Saraswati

(C) Chambal (D) Betwa

(E) Question not attempted

Assuming everything in the statement given
below to be true, decide which of the following
courses of action logically follow(s) ?

STATEMENT :

A strong correlation has been found between the
road accidents and over-speeding by the vehicles
causing large number of casualties.

COURSES OF ACTION :

I. The government should direct the
automobile companies to install a device in
the vehicles to automatically limit the speed
at 50 km/h.

II. Installation of speed cameras on the roads

and imposition of heavy challans on
offenders.

(A) Only I follows.

(B) Only II follows.

(C) Neither I nor Il follows.
(D) BothIand II follow.

(E) Question not attempted

P.T.0,
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) ¥
4L/ “FasT watawor feery” v s ST

Y.

(A) 15 smme ®) 537
6 5 (D) 14 37Ted
(E)  SrqaRa wo
3/%%?@3%%1333@@@3?

(A) 9 @/ 8
© 6 (D) 7
E) srafa wem

© v st i
O Tadta srficfr miarsy
E) sraia wem
44, TSR % 393 # 21 1y &
‘ ﬁﬁqmﬁmﬁammmaﬁl
(A) 3 w297 iy g
(B) E'ﬁuwnahmuéar
(&Y I i 2fion
(D) A 3 oy
D) AR won

qrfzmrmﬁn_nm TSR
F T A S 1y 3
(A) FFEAT () oy

() srafe 57
! DG-06

T a5y

44,

45,

12

41.

42.

43,

When is “World Environment Day»
y Celebl‘al
%
B) 5t jyp, 16, ;S
qE
Bl

(A) 15th August

(C) 6t June

(D) 1qm 5 .
(E) Qucstionnotattempted ”
What is the next Number iy the B («
sequence ?
77,49,36,18, e
(A) 9 (B) 8
© 6 (D) 7 ((.
(E) Question not attempted

APIO (Assistant Public Inf

Ormation Offce 48. 1
to forward application for ;

1) b
nformation to:

(A) The head of the Authority

(B) PIO (Public Information Officer)

(

(

~

{

. . 49. /.

(C) First Appellate Authority /
~

(D) Second Appellate Authority

(E)  Question not attempted

The two states to the North of Rajasthan are:

¢ 50,
Choose the Most appropriate answer from
options given below.,

(A) Uttar Pradesh and Punjab

(B) Haryang and Uttar Pradesh "

Q) Punjab and Haryang

(D) Haryana and Gujar

at y
(B) Question not attempted

il
The Westerp boundal'y of Rajastt?!
Pakistan jg known a5

(A) MCMnhon Line -(B) Durand Li®

~
(©) Kalapap; (D) Radcliffe
(E)

Question gy attempted
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qﬁﬁ:
9 faw o fawedt # § gud SUgE IO 4
(A) 3Tt (B) ’
(C) E F Fw e
) AR W
47/ TSI 359 AT FT A 7 2
(A) 'R - (B) fadieTe
©) SEaR Dy s
) IR U9

48. /" 18 I 2024 BT T3y g s’ & 3FTTE W

IATIROT foRaT T 9
(A) Fra= dgerst (B) AT HAHT
QY =iz #at (D) RrTe ®iEet
) FIART U
19,/ Wil % EE 99 F AES BT AW TAY,
oy “epferariera” 6t 3T &1 7 ot
(it () e
© femes wgd- (D) gARW gdE
(F) s we
\meﬁrﬁw = eRT 19 T ITUR (3)  TEd
et ST GTaT F T A
(A) FAA 3 Fyofg &t wifta & 10 &=
MAA%WH%WRH@T%%‘J

(C) FAAF fofa it mid & 40 fem
(D) FAA Pota @t i 30 T
(E) 3rgand 93F
\ﬂ/mﬂ % fou gheRPR TE QA
whag = “Faformen’ fomar 22
(A) aresit o3 FE
(B) AT
©) [AHAT T
TR ERTEE Mg
(E) 3raRa 97

! DG-06
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47.

49,

50.

51.

In 2023-24, Rajasthan was the leading Producer.Of
one of the following types of oilseeds. Identify
from the following :

Choose the most appropriate answer
options given below.

(A) Linseed
(C) Castor seed

from the

(B) Mustard
(D) Soya Bean
(E) Question not attempted

The High Court of Rajasthan has its bench at

(B) Chittorgarh
(D) Jaipur

(A) Hanumangarh
(C) Jaisalmer
(E) Question not attempted

Whose statue was unveiled in ‘Jaipur _Wax
Museum’ on the occasion of ‘World Heritage

Day’ on 18t April 2024 ?

(A) Sachin Tendulkar (B) Lata Mangeshkar
(C) NarendraModi (D) Virat Kohli

(E) Question not attempted

Name the ruler of the Chauhan dynasty of
Shakambhari, who was given the title of
‘Kavibandhava'.

(A) Arnoraj
(C) Vigrahraj IV

(B) Ajayraj
(D) Prithviraj I1I
(E) Question not attempted

Time limit for filing second appeal under
Sub-section (3) of Section 19 of the RTI Act is :

(A) 10 days from the receipt of FAA’s decision
(B) 90 days from the receipt of FAA’s decision
(C) 40 days from the receipt of FAA’s decision
(D) 30 days from the receipt of FAA’s decision
(E) Question not attempted

Which historian and archaeologist of Rajasth
wrote the famous text ‘Lipimala’ ? an

A) Bavji Chatur Singh
B) Dayaldas

(

(

(C) Kaviraj Shyamal Das

(D) Gaurishankar Heerachand Ojha
(

E) Question not attempted

PT.o
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which agroclimatic region of Rajasthan; J;

A IFHT TR .1
> ’ a3 . ¥ fow |32 gausa and Ajmer are included ? Pu, 5\5/
EEEIE gft-:r HaMaE? Choose the most appropriate answer from the {
A fro o et T gy IO I iﬁl options given below. :
(A) 1 waT q;ﬁ b (A) Flood prone Eastern Plain r\'
(B) ol aTet SR Fe () Humid Southern Plain |
9/ 39t AT SRl e (C) Sub-humid Southern Plain
(D) e -oep gt e (D) Semi-arid Eastern Plain @
(E) Said weA (E) Question not attembted

53/ dRmT % Seotae % RIU Uy W U § $(53.  For violation of the Constitution, the Presiden

may be removed from the office by :

TSTT ST HHal & 7 , fr
Rrepeat T TR . Choose the most appropriate answer from the
A fe o #a SARSHIEER ﬂe” options given below.
(A) 37T W& ZRT (A) A no-confidence vote V
(B) WA ST (B) The Prime Minister
(C) ¥Hg 3T T Tz & dewl ° (C) The Electoral College consisting of members
: of Parliament and the State Legislature
Prerert = Prata Heet g/ &
(DY wElT EW D) Impeachment ;
p =
(E) 31'3?1‘&6[ g9 (E) Question not attem‘?_t:é'é
5 A Ry 77 wyT § UH HUT & TqE o @6 [377|54.  The question given belé@fz;:}nsists of a statement
& w ¥l qw w9y aF wee follf)wed by two arguments I and II. Decide
3% which of the argument(s) is/are strong ?
STATEMENT : o
U Sh A e
. ould there be only two political parties in 2
T R 39 U F Fad g TeHITS I B country like India ?
TIrET 2 ARGUMENTS :
7% - I Yes. It will make the election process easier.

. Il No. In a country like India where there 2*
untry like India where
I 2l 389 AT 9iRan e &l S | several regional aspirations, regional part®

I TEf ARd §W W A ot & ey are also required. =
ey &, S S S A AT gl e

\(;)/W ad | et &l (A) .Only argument I is:st-rc-;ng. "
( y

¥aer a 11 71gd &l (B) Only argument 11 is strfmg.
(€) = at 13X 7 & 1w 2l (C) Neither I nor 1T is stm'ng.
(D) 13i% IS Fd & (D) BothIand Il are st'rorTg
(E) W&a 9T (E) Question not attempted
i DG
{ DG-06 14
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%ﬂa%’rzoﬁwmwm%aw,
frmfafad & & $I19 97 TeT 9EE ST

@

57.

! DG-06

’\Mm PEEl

AT & oY 9T &2
(B I

(C) e W= (D) =+ T

(B) arana weT -

sifea & st Tt S afa A s
7 & afq & ¢ GHT F O F T F S
aifyerer Gife F FFw wepTe T & 2

() T
(C g

(E Wﬁﬁ‘}ﬁ?i

9 fre o wed #, TF HYA S qG I a3

e oo ¥l ag B RF P W/A % wer

B/E?

YA :

o AaT-Rrar @t s sfemt w5t Rrew S e

F Iy At B Rgn w At T =

T ? e

2l aTe 3uia-E.f aesh aefeat ot o
# arfre w9 B &

I gl wmn-REr w e 38 @ Rremw w
T H TP T W ARy e W HEAT
=iey | i

Fael % 1R &l

Haet q% 1179 2l

Tr at 197 75y 3

© (B =T

SO wE

(A)
(B)
(©

y)/?TabflaﬁT?ﬁumaﬁy

(B) 3Tfaid med
- YTl 7 T v 7@ B
E11X, H7V, 2, N3R, Q2P

(A) K5T —®

©
(E)

15

55.

56.

57.

58.

According to 20t livestock census of India, which
of the following states is on the top of Livestock
Population ?

(A) Uttar Pradesh (B) Rajasthan

(C) Madhya Pradesh (D) West Bengal

(E) Question not attempted

Ashmit introduced Riti as the wife of his
mother’s husband’s son Sumit to his wife Reema.
How is Ashmit related to Riti ?

(A) Cousin (B) Uncle

(C) Brother (D) Brother-in-law

(E) Question not attempted

The question given below consists of a statement
followed by two arguments I and IL Decide
which of the argument(s) is/are strong ?
STATEMENT :

Should parents spend more money on the
education of their sons than on the education of
their daughters ?

ARGUMENTS :

I.  Yes. The data shows that boys succeed more
than girls.

II. Yes. Parents should spend more money on
their daughter's marriage than on her
education.

A) Only argument I is strong.

Only argument II is strong.

C) Either I or Il is strong.

D) Neither I nor Il is strong.

(E) Question not attempted

Find the missing term in the alpha-numeric
series : :

E11X, H7V, ?, N3R, Q2P
(A) KST (B) K9S
(C) I5T (D) 19U

(E) Question not attempted

P.T.0,
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59. /ﬁ-n:rﬁqﬁaﬁaﬁaww%@mwﬁrmﬁm%l 59.
ﬁwmqmmﬁe#wamﬂam

(A) I ATD

@) g freer ()
\}C)/ T A

(D) feett : faeett &1 T=ar
(E) 3RA WA

N T v wed A, Uh wuA & e 87 Sraret| 60.

F @E (130X 11) RE e E| FF & 6 a2
A, 7 B [ gU o sraEr F e g
TE TfFT T T FHHT ATELT FXd & 7
YU .

TS TS0 |, T ST 4T & 76 &9 39 A fraw &
TR G0 & SR Afgen I X A i & @

&l

HTUIAE & TP

I. ST ar Sgdl &t $H 3 S gl o
T B H GEAT =R

. TER & F9 IF B THIIT AERT B
Nt J5g ST =l

\}}/mlawwél

(B) &t I13HIOT FaT 3 |

(©) T ar 13T 7 & 11 IFEROr Hwelt B
(D) 13T ST e & B

(E) 3rqafa wea

61,/ 2T TE AFA (X) T FE TA AT A 61.

E

X)

(A) ] [ (B)
)
O

© (34
(@]
Ay

! DG-06 16

The following pairs of words are related i,
particular manner. Which pair does not fO]loW-\
that pallun ?

S
(A) Lmn Cub

(B) Dog: Puppy

Q) Cow Bull

(D) Cat: Kitten

(E) Questlon not attempted

In the questlon below, there is a statemep
followed by two courses of action (I and I,
Consider the statement to be a fact, decide whicy,
of the suggested courses of action Ioglcally follow b
it? ’
STATEMENT :

In a state, it has been observed that there is ap
increasing rate of female mortality during child
birth because of early marriages.

COURSES OF ACTION :

L Doctors or midwives should refrain from
¢onducting child deliveries of the underage
females

IL. The ‘government should provide monetary
help to the underage expecting mothers.

(A) G)nly 1 follows.

(B) Only II follows.

(C) Neither I nor II follows.
(D) BothIandII follow.

(E) Question not attempted

Choose the correct w
figure (X).

b

x) -

F I
w
ba(

ater image of the given

(A)
(©) (D) )

(E) Question not attempted

—
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2. Prferiaa et & weT fag (9) % we W w62,

ot GEAT AT 2

9 few 7T et # @ wae g4Rul

3,4,6,8,12,13,24,7, 48, 26

(A) 35 (B) 20

(C) 36 (D) 19

() 3R WeA

3./ ot # Fretafad # & feg wer @t g 63.

A T 7T faseat # ¥ wed Iuge IO |

(A) wweirg fEt (B) wrelt first

(C) o Tt W@ﬁ(ﬁwﬁ)
LD

(E) Srgaid wed

) g (o) st (v ot e s i 1

T Rrepet § ¥ U IR SPHT BT AT B
W(c)aﬁ?(d)%zﬂﬂwwﬁﬁuwﬁﬁ
T St arphr (d) F 9T T (7) BT WRTEITAA

AT

(b) (©) (d)
(A) i (B) Q
; [ ¥ |

(D) :

DG-06 17

What number should replace the question mark
(?) in the following series ?

Choose from the options given below.

3,4,6,8,12,13,24,7,48,26

(A) 35 (B) 20

(© 36 (D) 19

(E) Question not attempted

Which of the following types of soil occupies the
largest area in Rajasthan ? _

Choose the most appropriate answer from the
options given below.

(A) Alluvial Soil (B) Black Soil

(C) Red Soil (D) Desert Soil
:ii:; 7; 0
(E) Question not attempted

There is a definite relationship between figures
(a) and (b). Establish_a‘ similar relationship
between (c) and (d) by selecting a suitable figure
from the given options that replaces the question
mark (?) in fig. (d).

Al e
@ ® (d)
(A) Q '--(B;) p
© ? o : |

(E) Question not attempted

P.T.0.
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Wit aftads & a1 i Brsfafga 3 @ Y ar|65.
FUAT TE & 7
(A) wert @t vambs v sl
tl
(B) ﬁamﬂ?ﬁﬁmqﬁfmmm%l
() e 71 SRt s, smng ) awre,
AT TN A eer |
(D) TF AT UF 30 77 ygnd a3 ¥
E) srqaia wem
\66/ AT R T S FT B e v
:ﬁ%%uwfawﬁﬁ&mmmqﬁl
(A) 9EH B q=TET
(B) wraTETZEE @Y T
(©) 99 gq WIS § W 919w gt
T AT
) mﬁmmmmaﬁﬁamaﬁvﬁm
T WIS FT AT BT
(E) sraia weA
67 ﬁmmmﬁm(@é}wmw
A7 T FLAT 52
(B) %z fawrr wifireprst
© 57 F 7w wiaa
(D) T
(E)  s9ama wem
J I
(a) (b) (c) ()
A), (© 1) (b)
o @ D) ()
(E) srgaied 74
i DG-06 18

g _

66.

67.

Which of the following statements js
about a physical change ?

(A) The chemical composition of substance
remains unchanged.

They cannot be reversed easily.

(B)

(C) The physical properties like shape, size,

colour or state are not changed.

One or more new substances are formec

(D)
(E)

The function of the large intestine in the hy
body is mainly to :

Question not attempted

Choose the most appropriate answer fron
options given below.

(A) Digest the proteins
(B) Digest the carbohydrates
(C) Absorb all nutrients from the digested fc

(D) Absorb water and salts and excrete
undigested food

(E) Question not attempted

The District Disaster Management Auth
(DDMA) is headed by :

(A) District Magistrate

(B) Block Development Officer
(C) Chief Secretary of State

(D) MLA

(E) Question not attempted

Amongst the following figures, which one

different from the rest ?

J A

@  ®» @ @
(A) (o) (B) (b)
©) (d) ©O) @)
(E) Question not attempted
A
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/WQT@Taﬂ'Wﬁsﬁqﬂ-?
A(y/rrarsﬁ*ﬂ (B) T Wi
© T I (D) I T
/E) SR 0

7 Fr €1 TS e ATAT H 6T T I =R 9
7P, YO, XN, WM, ___

(A) ZL (B) VP
() ZP \(y/ VL
() aRa W

|/ dRE TH WS & BEeT IuEnr gl %
freme T & forg e ST B oo #
e 3T BT U UTHE 9 &

A% Ry g et & W g 3
(A) AR — AT

(B) TSEH — STAAT

(@ erarer — Y

\(/D)/aﬁﬁv—w

(E) srgaRa wed

Mﬁﬁ%ﬁaﬁﬁﬁﬁmﬁ;wﬁﬁﬁm%m
T 9% A gETT B A B 7

it

®)  fererr T

©) e

0) ety
E)  srafm wem

69.

70.

72.

! DG.gg 19

S F PV T B R

Who founded the city of Jodhpur ?
(A) Rao Jodha (B) Rao Maldeo

(C) Rao Chunda (D) Rao Rawal

(E) Question not attempted

What should come next in the letter series given
below ?

ZP, YO, XN, WM,

(A) ZL (B) VP
(C) ZP (D) VL

(E) Question not attempted

Tungsten is a mineral used for making the
filament of bulbs. A famous location of tungsten
ore in Rajasthan is:-

Choose the most appropriate answer from the -
options given below..

(A) Nagaur - Degana

(l;") Rajsamand “—_Bamania
(C) Bhilwara - iiéﬁéma

(D) Ajmer - Kayar

(E) Question not attempted

Who among the following has the power to
remove the governor of a state from office ?

(A) President

(B) Legislative ';Assembly
(C) Chief Minis;(_er:

(D) Speaker

(E) Question not attempted

P.T.0.
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73 A R e wed A U e 3l Tk A1E 130T

n/
<

N aifed g arom ¥ we @ u@ A Y,
Tr e fr PreafiRea 4 @ @ W
erroTT/amRemd fafa 2780

YT ; o

T I T W ww g wRiE A amitE

et mar | e i R s ot el

W F4F A8 @ wwarl

SO ;

L 79 9RE # smlte @it 9d@! o1 ik
e arl

I Tt IR & R =t Y 3 wwwig |
It 72 Rear mmar o

(A)  Faer urwenm | ffem 2

(B)  Faer o 1) Fafe

(C) sarat 1ar 1R B

(DY 13T 11+t fafe B

(E) 3raiea wee
ﬁmam%,aiw.‘mn@uwwmm
EATT?
(A), F5cT

f

®
(D) et

/ (E) ruita waA

7

{ DG-06

AT e T 9T # v e F A a awond
13T € ¢ | 7 91 v W gy, A
U9 .

Z97 xﬁmwﬁaﬁdwﬁqﬁ:%
oMy

I. xﬁmmﬁamﬁrﬁna@aa@r&%l
I X3 %1 ezt sepae 3

(%) Faa aron | Fafe 2
(B) aet e 1t fafem &
(©) arat 1ar 1A E|
(D) 13 nat fafed B

(E) argaid 937

e

73.

20

74.

75.

The question given below consists of 5 Stater,
followed by two assumptions numbereq | o
Considering the statement as true, decide i
of the following assumption(s) is/are implici
STATEMENT :

Only good dancers were invited to , 4
festival. No one without a flexible bOdy I8 .
dancer.

ASSUMPTIONS :

I.  Allinvited dancers in the dance festiva| 1

a flexible body.

II. Dancers without flexible body were
invited to the dance festival.

(A) Only assumption I is implicit.
(B)
©)
(D)
(E)

If ‘Rose’ is known as ‘Sunflower’, ‘Sunflower
known as ‘Lotus’, ‘Lotus’ is known as ‘Jasmi
and ‘Jasmine’ is known as ‘Lily’, then w.
would be the name of Indian National Flower

Only assumption II is implicit.
Either I or II is implicit.
Both I and II are implicit.

Question not attempted

(A) Lotus

(C) Jasmine

(B) Lily

(D) Sunflower

(E) Question not attempted

The question given below consists of a statem
followed by two assumptions [ and
Considering the statement as true, decide wh

of the assumption(s) is/are implicit ?
STATEMENT :

In spite of an increase in the number of tev!

factories in 4 country X, it continues to imf
fabric,

ASSUMPTIONS ;

o T

L. The demand of fabric per capita in X3¢
increasing.

M.

(A)
()
(©)
(19)
(E)

The textile factories of X are inefficient
Only assumption 1 is implicit.

Only assumption 11 s implicit.

Lither L orll is implicit.

Both Land 11 are implicit.

Question not attempted

_ot
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)ﬁﬂ?ﬁﬂﬁaﬂﬁﬁﬁ%aﬁnxﬁmmﬁ@r
e :

R
RS ARAAS
(2) (b) (©) (d) :
(A) (0) B) (a)
© (@ D) (o)
(E) 3TIaRT weT

) TN I PR § F B Y nphy aifies w7
H 4Tl B YU T F T weT ety F o
3 AT 2

76.

Amongst the following figures, which one is
different from the rest ?

R
TR
@ ® ©© @

(A) (b) (B) (a)

© @) (D) (9

(E) Question no} eﬁfémpted

Which one frorrf__'thg four answer figures will
come to the right-of the problem figure to
complete the series logically ?

OAJAO [1 AJAO
A O X| || A @) X
' CAl xO x| 1|0 oAl xO x| 1
@ X O A ® [AO x @ KOA ® [AO X]
b 0 - b0 0 -
* 1 1 1
@ JAOX ® [AO X O [AOX]— O JAO X
o o ! O t]=-= 1
* * *
(E) argand 937 (E) Question nci:t-
> Eﬂ?'l' " TEa fl'&l’ﬁ? IR 78.  The second trop Evel inalakeis:
(A) URIdE (FIESHe) (A) Phytoplankfon_:
(B) Aeferat ('REQT\?T) (B) Fishes
(©) Fraes (I=IH) (C) Benthos
(D) witreTa® (FrAiHe) (D) Zooplankton
( Wﬁ—d PEC (E) Question not attempted
’-/py-—n &1 strER arfufram, 2005 (RTI stfufaa#) (79, The Right to Information Act, 2005 (RTI Act)

YarE  wreSiE WY % SWEs H
PR & & Rpw T B TGTET & BT AAH

A &2 .
Fry fer 1 Feresedt 7 & WER FUgE I G|
(A) T & graer qQEEiiTET

(©) =erar (D) wiasaT

()  sraia a7

| DG-gg 21

seeks to promote which of the following qualities
in the working of every public authority ? .

Choose the most appropriate answer from the
options given below.

(A) Punctuality - . (B) Transparency
(C) Efficiency =~ (D) Reputation

(E) Question not attempted

P.T.0,
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80, wrdty wifqem ww st way Uy
’ (A) 15 3T 1947
(B) 26 [T 1950
(©7 26 T 1949
\//
(D) 2 3/gaET 1948
(E)  3rgaRa wew

\il, ’ ﬁwfaﬁa?rffﬁﬁr&“mﬁﬁudﬁummm”
AT AT & 9 '

(A)  FETeT Rft
y/aia%am.aiﬁw
(C) SR & e
(D) =7 &.uw. §3ft
AR w9
82. mﬁ@u%ﬁ%sﬁmﬁeoommﬁaﬁ
(A) T Teax (-B fea amt

© zeark (D) fiew & ww

(E) sraia wgT
83 ﬁwﬁfmﬁwfm—xﬁwﬁﬁmﬁa_
Frefaoi saferet =1 &9
1T T2 T frgt ”ﬁﬁmwﬁmqﬁl
(A)  A=E %1 ATed, T ga o, Wi
AT T, T 3 Erars
T, WAL w1 WA 3 g i
Q) it i, py e, i % feory, g
qq qw RALIE
(D) m ;}7 gtl‘;;q |"{|, "”HEQ' qu Eﬁﬂﬁi 3?].{
FT iy
(E) 3aRd w97
! DG-06 22

8§0.

81.

83.

The Indian Constitution was adopted on -
(A) 15 August 1947

(B) 26 November 1950

(C) 26 November 1949

(D) 2October 1948

(E) Question not attempted

Who among the following is recognised :
“Father of the Indian Constitution” ?

(A) Mahatma Gandhi

(B) Dr. B.R. Ambedkar

(C) Jawahar Lal Nehru

(D) Dr. K.M. Munshi

(E) Question not attempted

Who has become the first batsman in the wc

hit 600 sixes in the history of Interna
Cricket ?

(A) Jos Buttler (B) Rohit Sharma

(D) Quinton de C«

(E) Question not attempted

(C) David Warner

Which of the following is a list of only
degradable wastes ?

Choose the most appropriate answer frol
options given below.

(A) Plastic bottles, cooked food, hous
organic waste, paper and cardboard

(B) Fruit and vegetable peels, leather and ¢
clothes, cattle dung and agricultural we

(C©) Aluminium foil, PVC, egg shells.
leaves and paper

(D) Glass pieces, leather, plastic bottles
agricultural wastes

(£) Question not attempted
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84.

85.

86.

87.

Select the one which is different from other three
alternatives :

(A) Rhombus (B) Trapezium

(C) Pentagon (D) Rectangle

(E) Question not attempted

The famous folk dance of the regions of
Bharatpur and Alwar is the :

(A) Bam Dance (B) Ghoomar

(©) Garba (D) Bhawai Dance

(E) Question not attempted

Which of the following is not an objective of the

Rajasthan Institute of Transformation and

Innovation (RITI) ?

Choose the most appropriate answer fro

options given below.

(A) To provide training to students in the field
of IT.

To estimate various types of resources
available in the state (physical, financial,

manpowqr) :
To prepalg‘e;_'jpdlicy guidelines for making the .
best use of’é—'tate resources.

m the

(B)

©

To deveIop mechamsms to improve the

(D)
standard of Vlng of common people.

I \tl

(E) Question not attempted

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of the
conclusions  logically  follows from the
information given in the statement beyond a
reasonable doubt ?

STATEMENT : Death is inevitable,
CONCLUSIONS :

I.  Manis mortal.

II. Those who are born must die one day.

(A) Only conclusion I follows
(B) Only conclzus-i'on IT follows,
(C) Neither I?nc;r II follows,
(D) BothIandII follow.

(E) Question not attempted

P.T.0
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89.

90.

Frforfaa sfaen & q@ wg T g 0 88.

630, 666, 691, 707, ?, 720

(A) 716 ®) 712
(©) 708 (D) 710
(E) Irfaia 9
zﬁ-ﬁmmﬁﬁm%aw@r&%ﬁwﬁm 89.
g7
(A) I (B) wraE
%sm (D) R
(E) IaRa wsA

TR THR a?rﬂ-cﬁw At wter |90.

2023-24 % R, fra ad 2023-24 # T
& T A P G FT G ToaT B 2

A g u fewe # | e 9ugE T 99

\9/ 26.72%

(D) 21.35%

(A) 30.85%
(C) 22.60%

(B) 3 aia ued

f2u g 947 #, 9 famedt # W @ feedt aw |91

TH 2 1 UE Tam gl faew (Pre) Rreeg w®
T

~

(A) 65K (B) 91)
(C) 371 (D) 391
(B) STTard W
1 DG-06 24

What is the missing term in the following ser

630, 666, 691, 707, 7, 720

(A) 716 (B) 712

(C) 708 (D) 710

(E) Question not attempted

Bani-Thani is associated with which sche
painting of Rajasthan ?

(A) Kota (B) Marwar

(C) Kishangarh (D) Bikaner

(E) Question not attempted

What is the Agricultural sector’s contribut
Rajasthan’s income in FY 2023-24, accord
the latest Economic Review 2023-24 b
Government of Rajasthan ?

Choose the most appropriate answer fro
options given below.

(A) 30.85% (B) 26.72%

©) 22.60% (D) 21.35%

(E) Question not attempted

In the given question, three of the four
options are alike in some manner and
different. Choose the odd one out.

(A) 65K (B) 91]

(C) 37 (D) 39L

(E) Question not attempted
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gt AR R S=ter005 j Bhartiy?
b ¥T-2025" F F|92. Which city is the host of the 18 Pravasi B -

;sﬁﬂ T T 2 Divas Convention-2025' ?
(*) LRl B) Wt (A) Bhubaneshwar  (B) Bhopal
€ FaEe D) == (C) Hyderabad (D) Chennai
) ﬂﬁﬁﬂ T (E) Question no_f attempted
3 2 w2025 T TSI F Ay | 93. Who is the Advbcate General of Rajasthan as Of!

¥ 22Feb.2025? -
EIREE m (A) Sh. Rajer-i;i_r;Prasad
B ot T, et : (B) Sh.M.S. Singhvi
O off TrEH. der (C) Sh.N.M.Lodha
0) ot St.dT. Inrane (D) Sh. B.P. Agarwal
B @i ueT (E) Quesﬁor;g—;t_: attempted

@ LG ﬁl’({ HT HH T % ? 94. What is the véEof question mark ?

F10 16

®) H2 (B) K8 (A) H2 (B) K8
© ns (D) H7 (C) H8 (D) H7

Z‘ 13) E’T:ﬁﬁﬂ' - (E) Question nqt attempted

y i I ST T GAT x AT Efﬁﬁﬁ'ﬁ!’ 95.  Find the missif_\g’ I.“-“leel‘ X in the given Serieg .
568,77, 53 9,99, 59, 68,77, 83,89, 92, x
@) gy B 99 (A) 97 (B) 99
Q) o ©) 9% (C) 95 5 D) 95

’DG (&) B (E) Question not attempteq
U6 25
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~ SCannea witn camocal



9. T 2023-24 ¥ TS F freeT o T ¥
JUEA & g ¥ Pratafag & T B G U
2022-23 3 SATEABY ot #F WA 7

A e Ty Rt # & ey swge sw

(A)2023-24 7 1 Trete seret 3 aoft o

ST T BT I

(B) 2023-24 F w ﬁlm AT T FT IWET

T

(©)

(E) 3raita we

97. / "Rl A 1 fEw
feram T B "

2023-24 ¥ T foete 3T T 1 3T
Tl

2023-241}%&@@%&%@

(A) T

(C ":FJH |\_,a |

(E) rqana wag

9 wmaﬁaﬁxsgmmﬁgwﬁﬁr,

“aE T A AS B g W Y
I AT T T6 qUg w8 9

)p(era

(D) wrg

(A) =T ATE
() foar

(E) argaid 97

i DG-06
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97.

98.

Which of the following statements is true ap,
the production of oilseeds and sugarcane
Rajasthan for the year 2023-24, as compared
the production of 2022-23 ?

Choose the most appropriate answer from
options given below.

(A) Total oilseeds production decreased w.
sugarcane production increased in 2023-2

(B) Total oilseeds and sugarcane produc
increased in 2023-24.

(C) Total oilseeds and sugarcane produc
decreased in 2023-24.

(D) Total oilseeds production increased, w
sugarcane production decreased in 2023-;

(E) Question not attempted

The idea of the Concurrent List has been ta
from the Constitution of

(A) Germany (B) Australia

(C) Canada (D) South Africa

(E) Question not attempted

Pointing to a man,
brother of the d
How is Sooraj rel

Sooraj said, “He is the ¢

aughter of my grandmoth
ated to the man ?

(A) Cousin (B) Son

(C) Father (D) Brother

(E) Question hot attempted
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99.

gures will comeé
plete the

Which one from the four option fi
to the right of the problem figure to com
series logically ?

? 1 1 A
+DAD?A +
A il 2 dd 7

(Problem figure)

Oh A ® _A

(E) Question not attempted

Which of the followgng'pairs is the odd one out ?

(A) Frock : Dress :,_ =
(B) Chair:Furnitu;E;:
(C) Rose : Flower

(D) Banana: Appléz,t, :

(E) Question not attempted

P.T.0.
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